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② Find are solution to (4)

= particular solution

Y ③ Add result
&t = an + an

fr Match to initial ↓conditions
↓ ↓ + ↓
-Exo:an = Zan- +3an-2+7um

-·
H

# an= 2an-1 +3an-1

x" = 2x
""
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*2

x2 = 2x +3
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x= 3,-

&solution : a = A3" + B1-1

How to fmb and ??

(a) rescan
c = 2 + 3 +7t

- 4c = 7 c = - 7/y
so

an
= antau =

A . 3 + B(-1 -7/

al an= Ian .. + 3an-1+
-
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c = 2 E +35 + 1 .25

25c = (x + 3 + 25

12c = 25 c = 1
so an=5
and

an= A . 3" + & (1" + 25
(b) @n=th
Might gress =ch

Solve for ci

en =-[c(n-1) + 3c(n-2) +n

ch" = 2c)m22) +3,(th= I

Fals :



Instead guess :
-
-

ap = a +b1+m

Jess an= atbut cn

Substitute : ↓ ↓ n
-2n+ 1

=

Iathb[ 42Un+Y 4
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1 : cn = 2 ch2 + 3 cn2 + n

c = 2c +3 +

- uc = ) c =-
=

b = 2b - 4x +2b
- 12

- 4b = - 16) = - 16) 4) =4



- 4b = 4 = b = - 1,

! : a = 2a - 2b +2
+3a - 6b + 12C
-

- Ya = - 2b +2c - 23 +12
=
- 8b + 14

- ya = - 8)-1) + (4) -)

=
So ap = -g-n-tn

and

an= A .3" + B1- 11" - E - n - 12

(d) an
= Zan- +San-zto5



Guess : an = c - 3

Thisfails :

c3" = 2c3""+33" +3

c
= 25 + 37 + 1

c = Ec +z +
-

c = c + 1= X

#teredguess !

an = c- n
.3
↑ (adhr)

cn -3" = 2 c (n-134" +3c(n-213" i
divide by 32



ch = 2 c (r-1) + 3,(n -2) + 1

9 =--) + 3c(n-2) + 9
-

n : 9 = Gc +3

1 : 0=-6 + 9
12c = 9 c==
so al = 3/r3"

an - A .32 + &(-1)" + 3/n . 3

How any make the guess
1m : If = d

fu = c
,
fart .. + Cur + E

where Ftplusig"?
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poly of degreet



Then solution

① If y is not
a root to

char equation ,
then

f (dotdint = din
+
)
y
h

pola of dece +.

② If y is a root char

Then

-

Iequation of multiplicity m

fr=(dot+ dent) y

E Guess form of particular
solution :

(a) fu = 7t-1 +3Es

creas : fl = do = const,




